Probability theory teaches us how to include the uncertainty concerning μ :

$$f(x \mid I) = \int_{-\infty}^{+\infty} f(x \mid \mu, I) f(\mu \mid I) d\mu.$$

Probability theory teaches us how to include the uncertainty concerning μ :

$$f(x \mid I) = \int_{-\infty}^{+\infty} f(x \mid \mu, I) f(\mu \mid I) d\mu.$$

Thus, in our case (considering the possibility that $\sigma_p \neq \sigma_f$)

$$f(x_f \mid x_p) = \int_{-\infty}^{+\infty} f(x_f \mid \mu) \cdot f(\mu \mid x_p) \,\mathrm{d}\mu$$

Probability theory teaches us how to include the uncertainty concerning μ :

$$f(x \mid I) = \int_{-\infty}^{+\infty} f(x \mid \mu, I) f(\mu \mid I) d\mu.$$

Thus, in our case (considering the possibility that $\sigma_p \neq \sigma_f$)

$$f(x_f \mid x_p) = \int_{-\infty}^{+\infty} f(x_f \mid \mu) \cdot f(\mu \mid x_p) d\mu$$

=
$$\int_{-\infty}^{+\infty} \frac{1}{\sqrt{2\pi} \sigma_f} \exp\left[-\frac{(x_f - \mu)^2}{2\sigma_f^2}\right] \frac{1}{\sqrt{2\pi} \sigma_p} \exp\left[-\frac{(\mu - x_p)^2}{2\sigma_p^2}\right] d\mu$$

Probability theory teaches us how to include the uncertainty concerning μ :

$$f(x \mid I) = \int_{-\infty}^{+\infty} f(x \mid \mu, I) f(\mu \mid I) d\mu.$$

Thus, in our case (considering the possibility that $\sigma_p \neq \sigma_f$)

$$f(x_f | x_p) = \int_{-\infty}^{+\infty} f(x_f | \mu) \cdot f(\mu | x_p) d\mu$$

=
$$\int_{-\infty}^{+\infty} \frac{1}{\sqrt{2\pi} \sigma_f} \exp\left[-\frac{(x_f - \mu)^2}{2\sigma_f^2}\right] \frac{1}{\sqrt{2\pi} \sigma_p} \exp\left[-\frac{(\mu - x_p)^2}{2\sigma_p^2}\right] d\mu$$

=
$$\frac{1}{\sqrt{2\pi} \sqrt{\sigma_p^2 + \sigma_f^2}} \exp\left[-\frac{(x_f - x_p)^2}{2(\sigma_p^2 + \sigma_f^2)}\right]$$

C GdA, RM25-14 20/02/25 5/58

Probability theory teaches us how to include the uncertainty concerning μ :

$$f(x \mid I) = \int_{-\infty}^{+\infty} f(x \mid \mu, I) f(\mu \mid I) d\mu.$$

Thus, in our case (considering the possibility that $\sigma_p \neq \sigma_f$)

$$f(x_f \mid x_p) = \int_{-\infty}^{+\infty} f(x_f \mid \mu) \cdot f(\mu \mid x_p) d\mu$$

=
$$\int_{-\infty}^{+\infty} \frac{1}{\sqrt{2\pi} \sigma_f} \exp\left[-\frac{(x_f - \mu)^2}{2\sigma_f^2}\right] \frac{1}{\sqrt{2\pi} \sigma_p} \exp\left[-\frac{(\mu - x_p)^2}{2\sigma_p^2}\right] d\mu$$

=
$$\frac{1}{\sqrt{2\pi} \sqrt{\sigma_p^2 + \sigma_f^2}} \exp\left[-\frac{(x_f - x_p)^2}{2(\sigma_p^2 + \sigma_f^2)}\right]$$

In particular, if $\sigma_p = \sigma_f = \sigma$, then

$$f(x_f \mid x_p, \sigma_p = \sigma_f = \sigma) = \frac{1}{\sqrt{2\pi}\sqrt{2\sigma}} \exp\left[-\frac{(x_f - x_p)^2}{2(\sqrt{2\sigma})^2}\right]$$